323

LIFTER

11

—0.030

#65-0.0a9

M8 &

(22)

FA L ZINTHE
[ElR 5 A h gEER)

=

(

(2]
]
* T
*ZNO—Y TURBF ‘
DIEE 440
$65 30

(R%)

FLCN

QO

No. E E2 wEwE
1 | AZ1REY 1 | SO#50S45C
AN 1 | Steel
Coil Spring 1 | ATV G 1%B R

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

FLC 15 TE 100 125 10
FLCN 40 96 170 75 125 10 125 10
FLCT 60 TL 55 140 | 25
WA 7)o Jtt%
ATV N {0 RACES
S| "s¢7 | 277 "Exmm | ®EN | BEmm | ®EN
TF TF40-150 485 735
e L TL40-150 2 1022 108 1551
TF TF40175 415 988
g T TL40-175 15 876 1es 2084
TF TF40-200 166 426 106 1178
S TL TL40-200 181 502 121 2088
[ AN % ® Ahw/N
FLCP (FLCH) 15 FLS

FLCNP (FLCNF) 40
FLCTP (FLCTH) 60

V78tvb AZ1REY AbviN
‘ Catalog No. H ] ‘—‘7\7')”/7“947‘ ‘ Catalog No. H S ‘ ‘ Catalog No. ‘
Order FLC 15 FLCP 15 FLS
FLCN 40 - TL FLCNP 60
: Dp =0
Bl (P.329)

Example

EfTE> FfTE>
! (P.329)

— J

BZERICH=DT

FLCNZA 7R3 BEHROARICISCTINIO £ ZFALEZ.
REEDDD BB CIE BMETOIERITEDNGBITTEZL,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

324



329

LIFTBLOCK-REARGAUGE-ADVANCEPIN

LFTB

FLRG

FLPPA

5

C5

H "o ¥ =

30

55

‘st—oj

6.5

(#18E) SK3

23
10

il
45(W)

2-47.5
(Vy7TFR)

L1

¢d

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

(#8) s45C

(+18) $45C

FHRERLEA NI

e T7hT7Ovy

LFTB

50
60

I!l ‘Catalog No. H w ‘
LFTB

Order
oUTH—T
50
FLRG 45 55
‘CatalogNo.H w ‘—‘ L ‘
FLRG — 55
Order
® ST

40~ 60 M8x35 20
25 T 70~100 wess | | M [T
FLPPA 30 50 - 60 M12x50 25
70~100 M12x70 13 20 45
35 110~150 M12x90 65
I!I ‘ Catalog No. H ‘—‘ L ‘
FLPPA - 100

Order

o EfTE EUTNT OV DA AL E

FLPPA

25 40~100
30 50~150
35 50~150

LFTBB

52 26
62 35
75 42

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

S
=

Z
)
#®
x
B
=
B
]

330





